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3.1, 3.4   

 



 
 

3.2 

 

Im Dreieck CDB gilt: 

 

                AB/2           
tan 20° = ------- = | * CD 

                  CD              
 

CD * tan 20° = AB/2 | :tan 20° 
 

           AB/2        3 cm/2   
CD = --------- = ---------- = 4,12 cm 

         tan 20°      tan 20° 
 

                AB/2           
sin 20° = ------- = | * BC 

                 BC              
 

BC * sin 20° = AB/2 | :sin 20° 

 
 

           AB/2        3 cm/2   
BC = --------- = ---------- = 4,39 cm 

           sin 20°      sin 20° 



 
      180° - 40° 

ε = ------------ = 70° 
             2 

 
M liegt auf der Winkelhalbierenden von ε --> β = ε/2 = 70°/2 = 35° 

 
Im Dreieck MDB gilt: 

 
              MD   

tan β = ------- | *AB/2 
             AB/2  

 
MD = ri = AB/2 * tan β = 1,5 cm * tan 35° = 1,05 cm 

 

3.3 

 

1,5 mm = 0,15 cm 
 

rKugel = ri - 0,15 cm = 1,05 cm - 0,15 cm = 0,9 cm 
 

            4                        4  
VKugel = --- * π * rKugel³ = --- * π * 0,9³ cm³ = 3,05 cm³ 

            3                        3  
 

            π * AB/22              π * 1,5² * 4,12 
VKegel = ------------ * DC = ------------------ cm³ = 9,7 cm³ 

                  3                               3   
 

Verhältnisgleichung: 

 
9,7 cm³ : 100% = 3,05 cm³ : x% 

 
x * 9,7 = 100 * 3,05 | :9,7 

 
        100 * 3,05    

x = -------------- = 31,44% 
              9,7     

 
3.4 

 
Im Dreieck PNC gilt: 

 
               PN  

sin 20° = ---- | *PC  

               PC  
PN = sin 20° * PC = sin 20° * 1,5 cm = 0,51 cm  

 
PQ = 2 * PN = 2 * 0,51 cm = 1,02 cm 

 
3.5 

 



QC = 1,5 cm  
 

AMantel = π * PN * QC = π * 0,51 cm * 1,5 cm = 5,49 cm² 
 

                     π * QC² * ω   
AKreisausschnitt = -------------- | *360° 

                          360° 
 

2,4 * 360 = π * 1,5² * ω | :π * 1,5² 
 

         2,4 * 360   
ω = -------------- = 122,29° 

          π * 1,5²     
 

3.6 

 

 
 
 

Im Dreieck EAP gilt: 
 

AB = AP = r = 1,5 cm 
 

γ = 180° - ω = 180° - 135° = 45° 
 

             EA  
cos γ = ---- | *AP 

             AP  
 

EA = x = AP * cos γ = 1,5 cm * cos 45° = 1,06 cm 
 

l = 1,5 cm + 1,06 cm = 2,56 cm 

 


